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Q. 1) At present, Ami's age is twice Dio’s age’ and
Cami is two years older than Ami. Two years ago,

————

the respective ratio between Dio’s age at that time

and Cami's age at that time was 4: 9. What will be

Ami's age four years hence?

gaa # Tt B 3 ¥4t #t 39 At IR @ 7 Ft
Tt A 31 ad 73t 71 1 7 g, ¥4 9t 3w Wy Ft 9w
Td U BT I THY Dt IY BT 3UTd HHA: 4 : 9 AT}
IMA4qfuggUR Ay FIET 2

@ (A) 40 ye (B) 30 years

(C) 42 years (D) 36 years
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Q. 2) If x* +x—19then(x+5)+—)=?

gRExZ+x=198%ar (x + 5)+—)mm=rt

[
&+5) + Tro (A)7

e

xX+5

[9-2 + 95 +10x +)
4 x+5

> 91 +\4¢
(X) 7

x4+ 54+ 10> 4\

(®)9)
(OF: @Hp)z: e+ 2
(D) 3

3 (=95
-|~g)




MATHCEMATICS By Pradeep Sir

A 2

9 = 9«x };i.
B%F + (2:x¢-1¢) = 9

°?'G+(Jc—lh):qx.
£r: 2o @

Q. 3) 9 people went to a hotel for combined dinner.

8 people out of 9, spend 27 each on dinner. 9th

. N
person spends 16 less than the average of all

persons. Find the total expenditure on dinner.

o T gew & R ¥ frg M 3 @ 8 wfdRwadt 3
3T HISH W Ud® ¥ 27 @d fd 941 9 § =fed A

1wt sferat & ot @ 116 w0 @d 5, At 3 Wl

& g1 v T @ @ fhar g 2
(A)250  £(B) 225
(C) 210 (D) 240
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into various fields:

fafvr= garar o faznfear &t 9= & 929

Fields

Economics

!
l

Hotel Manageme nt |

\( .0l Boys

6%

4%

‘\5 u“

- o
12 O

68 %

Direction (04-06) - Study the following pie-chart and
table to answer the questions.

Faifea urg a1 @71 sreaga Fifog o IS 918 Ry
T Y BT IR Siog |

Total number of students admitted in a university in
various fields = 5000

te fayfeeren 4 fafim doral & yaw @4 9«
faenfday &t W= 5000 B

Distribution of the number of students
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5%
Q. 4) What is the average number of boys in

CS, ECE and EEE fields?
CS, ECE 3 EEE BTl | dSH! D1 39d BT
fFate?

(A) 406 Pl st it e e
(C) 514
"rg{ 26 2
15\ R (D) 516
SRR So§
———
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Q. 5) The ratio of the number of boys in Economics

to the number of students in Economics is:

SHHIUTT H dSDI Bl GSAT B1, SHHIHTT § $d

faenfdal @1 @ | &1 U § 2
(A) 13:25 —

/ Py fafu= nfnr;;’i‘x, f\;;rf” :m 'f;ft‘r;ﬁn Cagce
(C) 12:25 [\ /.

(D) 17:25

Hotel Management
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(Ot S-{— = 5o00 Q. 6) What is the difference between the number of
girls in IT and number of girls in ECE?
/5“,(}{77\4-& 35 IT ¥ wefeal $1 W@ 3T Ece ¥ asfeal o ven #

—-H:f —;@m X 45

fpa=T 3R &2

% (A) 25 into vanous fields :
’ E fafyv= dWarar o famfdar 5t e &1 929
xﬁxé{_g D ¢
L — (C) 20 S ;
R (D) 30
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Q. 7) A car driver is driving at a speed of 88
kmph. A bus which is 100 m away from the car
traveling at speed of 52 km/h. The time taken
by car to leave the bus 200 m behind is-

www@aa%ﬁmﬁaﬂmﬁm

1 (90mt T3 E‘l 8T &, 31U 100 Hiex 3 52 fasdt./ave 3t ara

A
88 km|P 52km|L
D= ‘300('1\
R'S = gkw\‘ax_s_ -
A8

r- =

= 10 0|$ec

ﬁmzﬁwaﬁéﬁm%lmaﬂﬁﬁﬁmﬁm

mwwwﬁzoa:ﬂatﬂ%WW?
(A) 25 sec @
(C) 32 sec (D) 28 sec
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C
Q). 8) In A ABC which is right angle at A and BC is
L g 5 cm..BL and CM are medians. If BL¥ cm. then CM will
be-
N A ABC ®, 5t A TR 9HSIUiY 8 3R forad Bc = 5 9t B, &t
AL & MBLWCM?lam?,HﬁBL=3—f#Iﬂ.%a’I
Bl+cm = 5_ acs cM P} wrvaré et ghft 2
A
AXE o em?s _S_XQ
1 7 “ (B) 5+/2 |
™= 1% 4S8
TR vt (C) 10+/2 |t
(D) 4+/5 |

Cm=9z
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Q. 9) A number 'x' is added to 2000. The
', "'__8 K resultant sum is completely divisible by
9 12,1_9,1§ & 21. Find the sum of digits of 'x' ?
(oo +x A & & x '@ aguw den g o’ w19 2000 A
5 = 9 siteT SIY ot aRumdt W@ 12, 16, 18 3R 21 &
) - Ry 8 ot 81 x & 3! BT AT R?
v V6, 18 ') - g
Q' xFx3
16¥Qxy = LW (B) 5
\iﬂ Lem )6
| 008X (©)
- N(D) 4
QO\M > 'Qboo+ \ C
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Q. 10) Sanju has a rhombus shaped farm
ABCD. This farm is surrounded, by a path of
width 2 m, as shown in the diagram. If
LADC=30°, AD=10m, Then the area of the
pathai;:.: w .
| U GHAqUETPR PR BT

ﬁo%,waﬂéiaﬁamzxﬁ.

AISTS BT IRT 8, o 6 o & g=far mar 21
gfe LADC =30°, AD = 10 HIeX &I I, 39 I
BT ATEA FTd S |

(A) 16 cm?

(B) 24 cm? / -
(C) 34 cm?
@ne of these
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Q. 11) A sum of 1521 is lent out in two parts in
such a way that the interest on one part at
10% for 5 years is equal to than on another

part at 8% for 10 years. Find the two sums.

Z 1521 B I I g HIT A 39 PR IUR faa
SiTaT & 6 ugd YIT W) 10% arffe & v 5 af
BT TS, gAY HRTUR 8% AMUD R W 10 q4 &
TS & TRER 8 | ST HIT Pt R Farsy |

(A) 2926, 595 (B) ¥ 906,615

(C) % 916,605 ((D) 936, 585)
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Q. 12) Find out the unit digit inbz -
/12 ¥ BT BT 3P F1d B

(B) 2
(C) 4
(D)5
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Q. 13) A and B started business with different
amount. They decided that they will get 6% each

A B year of their respective amount and after that, if
there is any profit they would get equal share. At
Y ¢ 30 3 %30 the end of year A get ¥ 4630 & B get ¥ 3730 and it

was found that A gets 650 more and B gets 650 less

when profit_is distributed in the ratio of their
“5‘&-8? . %eR & amount what is the amount of each person ?

A 3R B 3HE I | TP A AUR &4 &1 3

48 9 fAuffva #3a ¢ f& yde &t 39t A #71 6 wla=E

wfaay frdm SR e T afe T oy g &

THD! AIH § aRTeER dlc forar S| ad St wafa

UX A, T4630 3R B, T 3730 WId Hd § AR Ig UM

a1 {5 A B 2 650 TP FreraT 8 U4 B B T 650 PH

[SIK

e o9 SIRT TS 5 IR & T
H qieT JTdT| Uld® afad S IR AT 8 2
\4A) T 36,000, 221000 (B) ¥ 38,000, ¥ 19,000
—4C) ¥ 42,000, 21000 (D) 40,000, T 18,000+
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Q. 14) There are 30% educated people in a
village. If total population of the village is

6600, then what is the no. of uneducated

people?

U® g | 30% @1 Rfda g1 afe i it pa
06 d¢xo W@ 6,600 B, df IuA i@ @it @
4 & §d14 |
620 (4620~
- A) 4620

(B) 4420

(C) 4500

(D) 4370
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CP S p Q. 16) Remi earns a profit of 20% on selling an
article at a certain price. If she sells the articles
oo :it/ <0 for T8 more, she will gain 30%. What is the
L > original cost price of 16 such articles ?

— W 3 #1¢ avg FAifda g0 w I9av 20% a1
o ] oy BlaT 81 9fg 9% avg @ 28 oY fuw A
,yxwﬁ % dgdt, df 39 30% T ATH giar THT 81 16 avgadl
&1 ol 9 Hed JTd P e

Qoxlé
@ <(A) ?1,28@ (B) ¥ 1,120

(C) 1,152 (D) ¥ 1,200
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U=
S +gy Y R Ke"?‘? Q. 17) The ratio between two numbers is 3: 4.

e +6 If 6 is added in each, the new numbers are in
I5x+ 30 =16x+ 3y the ratio 4:5. find the given numbers.
3l J=mait # U 3 : 4 F1 ¢ Ul S "=
T - -~ ¥ ¢ wiig feur wiw @ 3qUE 4 : 5 § WaT B
6/@ (@ HET Td FMT -
(_,_6 +6> . (A) 24, 30
(B) 25, 30
“u 5
(C) 30, 40
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hOC 000 | Ls0o
| 20 2K 415y, 18) A banker lends 4000 at simple interest
o customer. The rate of interest for the first
year is x%, for the second year is (x + 3)%, for
Lﬂwoxixl+('\oox(m)xj the third year (x + 6)% and so on. At the end
o0 T + — — 53480 of sixth year customer pays 7480 to banker

and clear his debt. Find the value of x?

’%[Cx - 3+s+°|++l-1"5' );%ig,{ g gﬁg ﬁ%mmgg %’ 4§9-'\gg

€ - R a'ﬁfa"m(x-rB)%%,ma?m(x-rﬁ)%
TEERY S fen olie T avy BB a6 & ol 1wy Ba

Cx =g ] T 7480 BT YA AT ¢ R AYAT BT
@ gHTdT & | x BT U JTd S|
i (A) 8 T4R o0
(C) 6 (D) 11 — 1000

LY
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Q. 19) The val f‘%;i(hi) £1'7;
. eV ueol—_%.75 100;;18

(A) =

N
@y e

3

(®)) 185
1

§))) 27
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Q. 20) What is the range of the distribution if a

variable takes the ten values?

faavor &t Wt @1 8 afe e == & g9 9 adn
22

17, 18, 27, 11, 24, 21, 34, 21, 17, 32
\/ /

(B) 14 3Y -\

(D) 15
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Si'n'l(g-\-c

of® = |

Q.21)fx=rsinAcosB,y = rsinAsinB and z =
rcos A, the find the \;Ee of x2 + y? + z2

gfe x = rsin Acos B,y = rsinAsin B and z = rcos A
81, 22 + y2 + 22 BT HIH FTd S|

(A) r%(cos* B+ cos? A)

2 2 .
RS TG e TS UL R
(C) 3/2r?

e Y(RACORR iRt R+ G &)

rt Lgiv\‘ﬂ(oaa‘ R -\-S\'??-R) +(at*n

@
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@@ Q. 22) 3 men A, B and C can complete the work in
11 ?;'» 9711 and 11 days. A, B, C starts work together, A and

B left the work 2 days before the completion of the

work, then the whole work will be finished in how many

days?
3 3TeH A B 3R ¢ fFdt 19 & Haw: 11%,91—‘13?17 11
NS

lem= 1o [ # B TPd g1 il A 91y ey oW &1 g
uye  fHATI A SR B A 7 @ 81 9/ 2 R wgd I
1S fﬁgfa'm mmﬁwmmﬁﬁqﬁmgmv

-ﬂ @ )3
I

€5 (D)7




